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All questions to be answered,

All questions carry equal marks.

1. Solve the equaticns :—
(a) 3(6x-+5)—4(3x14)=T(3+ 2e)—14 ;
(h) 2x+by=14,
Ta-+6y=9.

9. Divide 2:%—11a2+18¢—9 by 2¢—3. Test your answer when
z=4 and, also, when z=-—1.
3 Factorise :—
(a) #*+2—42;
(b) 902 —(b+0)*;
(¢) 2a®—ab-bbe—10ca.
4. Solve each of the following equations :—
(¢) 2*=2H;
(6) (z—3)2=121;
- () 2 —6r=216.

““ 8. A girl cycles at x miles per hour and walls at » miles per hour.

If she gycles for 2 hours and walks the rest of the way, her total time
for a journey of 26 miles is 2§ hours. If she walks for 2 hours and
eyeles the rest of the way, she takes 3} hours to cover the 26 miles.
Find the values of z and .

6. Using the same axes and the same scales, draw the graphs
o yda® and y==241 for values of = from 3= —3 to ¥="1-3.

Find from your graphs, as dccurately as you can, the valued of @
for which 2%=22-}+2,




